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Tangent and cotangent of sum and difference identities of angles
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Learning outcomes Appply the sum and difference,double- angle and half- angle

identities to problem solving
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Intended destination Appply tangent and cotangent of the sum and difference

identities of angles to problem solving
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( Tangent of sum and difference identities of angles)

W a, pludunuasaioyt 39 cosa #0,cos g #0

11tan(a-p) = ;Z(Z__%)) 12tan(a + B) =tan (a (- B))
_sinocos B —cos asinf tan (—9):—tan0

oS 0.cos B + sinasin B
k24

11 cos a cos B mIvLAsLazaula

- tan(a + B) = tanfa — (- B)]

) ] _ tan o —tan( -B)

sinacos B cos asinf T 1+tan atan( —p)

COS oL COS B Cos a cos B

COS . CoS B N sinasin B

COS a.COS B COS o Cos f =

sina sinf

_Cos a ~ cos B

_1+ sino sinp _
Cos o Cos 3

tan o — tan ﬂ .............................

l+tanatan g e

tan(a-B) =
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(cotangent of sum and difference identities of angles)

W o, B UdIUeSaw3ayuds sin a #0,sin B # 0,sin(a— )= 0

2.1 cot (06—,3)= M 2.2 cot(a+f)=cot(a-(- )
sin(a - 3)
_ COs @ cos 3 +sin asin f3 cot (-0) = -cot 0
sin oyecos p—cosasin S - cot(a+ fB) = cot[a _(_ ,B)]
11 sin  sin £ msaAvLazau gl oot aucot(—B) +1
cos cLcos B, sinasin cot(—B) —cot o
_sinacsinp  sinocsin _—CotacotB+1
sinocos B cos asinf —cot 3 —cot o
sin acsinB_sinacsinB _ —(cot ocot B-1)
_cotacot B+1 — (cot B+ cot a)
- cot B —cot a _cotoacotf-1
cot (a_ﬁ):cotacot[}+1 cot B+ cot o
cot B —cot a cot (a+f8) _cotacotB-1

cot B + cot a

Example 1 Express the following as a function by using sum and difference identity

Dtan(-195°) = -tan 195°=-tan (195°-180°) [2)tan o = g’ta“ ﬂ=-%,a ag‘j Q.. ag‘j Q,

=-tan 15 WH cot (a - )

=-tan (45°-30°) tan (Z:§ tanﬂ:_g

S ] ﬂ ° ﬁ
cota = .Cot =

3) tan 75°- tan 30°- tan75°.tan 30°
38911 tan 45° = tan (75°-30°)
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1) tan 105°
2) (:05.7—Tc
12

2090 sin(a+B)  cos (o +B) sin(a—B) way tan(a—p) dlormualii

tanoc:i I sasm cosB:l 0L
3 2 2 2

3.1 sin x :§,Sin (x+y):j war 0/x/Z msx +y43—7r 99
5 13 2 2

1) siny
2)  tan(x+y)

4.99mesolli
tan 50° — tan 20°
1+ tan 50°tan 20°
5 cot 46°cot16°+1
cot16° —cot 46°
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Dtan| Z-A _i-@nA
1+tan A

2eot| Z+Al= cot A-1
cot A+1
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1tan(-195°) = /3 -2
-11
2.cot(a-pB)=—=
P 75

3. tan 75°-tan 30°-tan75°.tan 30°=1
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1. 1) tan 105= -2-4/3 2) tanllg—zﬂ:—Z—\/g
2. sin(OLiB) = M , cos(aiﬁ) =ﬂ
10 10
~ 4+3\/§
—3+443
16
3. 1)siny= —  2) tan(x+y) = —
siny o an(x+y T
a. 1) @ 2) 3
T tanE—tanA 1—tan A
51 tan(=-A) =— 4 =
4 l+tan%tanA 1+tan A
P cotﬁcotA—l t A1
2) cot (—+A) = 4 =2
4 cot A+1

cot A+ cot 2
4

, tan(OL—ﬁ)



